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Please check whether you have got the ri ght QU :
All questions are compulsory. .
Figures to the right indicate full marks.~ o :
Use of. non-progranunable calculator 418, allowéd.' 2
Normal distribution table is printedon lashpage
Support answers by diagrams where: appllcab‘
Graph paper will be supplied oﬁ*R;equest

M3

QAW

Q.1 Attempt any two questions : : E R A A Ry
a) Use Simplex method to solve the following Lmear progmmmmg probi

7.5
Maximize Z = 3xq + 7x; ol T o 45 o AT R
Subject to the constraints, ;5;31_;5 ¥ o oyl f_f_,‘,. PESL
2x1 ‘f E‘xz S 20 PSS S ;.\'\'
b) Use Graphical methodfo" 7.5
Maximize Z = 8x, +5k;» <
Subject to the conffﬁ‘am L gl
SR +sxz B m
A “lxi £ &8
; ‘.‘JCJ_ Z 0; X > 0
) Answer each quésticm m'bhe R = R
i) < oDiseuss charactqnsilgs of ¢ Opsratlons Résearch 2.5
ii):* ' 'Eﬁtﬂam “Redundint Constraint” in:Graphical Method of LPP. 2.5
© Write the Dual for the following Problem 2.5

i)
L Mitiimize 2 £ 8%+ 20 3%3.
‘ 'Escub,]eat ) the_consﬁ*aints g e
; O x1+3x2+5x3>18
oY b 2x2 +x327
1.-2 0520020

Y

), quaétmns 4 o
€40 be@ssngﬁed td four workers on one to one basis. Cost of each assignment is 7.5

a)Foup
) gi\;:m m Rs' ThnuSandS F md ‘optimal assignment of job and worker to minimize total cost.
\1 Fa¥ £ Jobs
F B C D
: 6 4 2
5 6 5
9 4 3
R 5 3 2
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b) The quantity of different p
the following matrix along

he optimal assignment of workers to pro

= ot

roducts (in units) produced by the'
with the profit in Rs. Per unit., Fi
duct which w11]~m_‘

! ._—————T—JF—
h Weosnn Pencil Rubber
; Amit 30 > ]

|

5 Sumit 25

‘ Vinit 40

af Punit 35

i. Proﬁt in Rs. Per 4

‘| Unit :

¢) There are 3 Factories A, B, G"@m}l Lhre“e Mﬁl‘k
60, 80 and 85 units. Demand at“tbe“marks‘t’plac:' s
and Demand of units wr}‘h-unii;ccstuof:*l"
followed from Factorles{m
circle indicates numher" ;’

hvih;:kets are give :
'L;t ‘trans;gt'irted from Facton

ven-bel

sgpo atiq
T

. Supply a ai' he xFactoues is
0'and 40 units - The supply
Rs LY. and the schedule
nbers Whlch are shown in
es G'Maikets)

Jarkets Supply
Factories 4
151 60
| T w0
}__8_ 85
225

‘Comment upan th
Tran*spo:tatlon Solutlon

g 'eh;solu h‘for qptlinal

] anagem

1ty and find optimal Transportation

mate Transportation solution.
ial significance of alternate/ multiple optimal

SlStS of f followmg activities:

EB0C22D99B59CIBI CEE0466F01550FE4

Precedmg Activity Time (days)

6

: A 7
L4 A 9 !
il \ B 2.
' l C 7 s

D,E 8
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a8 Q.P. Code :312

i) Construet the network diagram and find out critical path and project completion

time. % iy

ii)  Calculate Earliest Start Time, Earliest Finish Timg; Latest start
Finish Time for each activity. o)

iif)  Calculate Tail Slack and Head Slack for nop-critical a

“The project mahager has nade
following calculations of Average Expected Tites: roit Qptimistie time, most likely time
and pessimistic time for various activities of a project as:well respected standard Deviatior .~
and the variance values. VIFOF L
Events Expected Time (te). |- Standa
ij in weeks:" o Tl
12 - 5o s s
1-3 e N A
2-3
24
3-5
46

b) The data for a PERT network is given in the foll%wm‘g’"‘gible

ALY -

iy
N Ay

rd Deviatio

) Constructthenetwork diagrarm of PERT network & 25
ii)  IdentifyCritical Path and find the expected completion‘time of the project. 01
i) Find project completon i for 95% confidence level, 02
iv)  If the fied cost of the project is Rs.30, 00,000/< and the variable cost is Rs.20, 000/-
per week. Find the amount the firm should bid under the policy of 95% confidence
‘ QﬁsQﬁ’l’p}qhgan thé;ﬁrojg‘c,t; 1‘(_fdf:-the?ﬁﬁiﬁdﬁ@f@fﬂding, consider only cost that is
< break-evenssituation < no 1oss and no profit) ¥
e . b o i gt g LTS NP, Sl

©) Auswereach uestion in briel: * <" S0 O

S VAL s o Rt i
i) - “Discuss tie conicept of Dummy Activity.
cuiss the difference between an Activity and an Event.

& bl ;:}' 2
£G Guestons: ¢

2.5
2.5
2.3

ny

Q4 Atiempt

a) Axﬂ\epar\fm it sfore Jthabakerysectxon is faced with the problem of how many cakes to

'g'r'gfér_ttdfﬁﬁﬁéijtﬁé_"dﬁyfg,_den{ahd?‘T-he departmental store prefers not to sell day-old-
_cadkes: Left over vakes are therefore, a complete loss. On the other hand, if a customer
“desires cake but all-of them have been sold, he will buy elsewhere and the sales will be lost.
'»ﬁa%téfpﬂuf%ﬁ@éhf?gé,@61__1@:;&3&"information on the past sales based on 100 day period as
lebelow: |

S i ¢ g 26 27 28
robability . |< <~ 0.2 0.4 0.3 0.1

St ‘_im,‘:.;fg“*;,-‘ . \ AL .
p'nstrgg;p“gl}gécebQQiixonal Pay-off (profit) table. 25
)Calcﬁiateﬁxpeotgﬂ Pay-off (profit) using EMV method and suggest best course of 03

;‘ﬁafﬂi’s the;di;ﬁ?ﬁal number of cakes that should be bought each day? A cake costs

_Rs:10/-:and sells for Rs.15/-
iii) Caleulatethe Expected Value with Perfect Information. (EVPI) 02

Page 3 of 6
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machines 1 and 2 are given below. Each of the products x;mst g0
and 2 in the order 1 -2 “
Products Time in Hrs on
Machine 1
25

40
15

time.
ii) Find the total Elapsed time Mh
iii) Calculate the idle time foﬁmﬁc i

iv) Calculate the idle time té?;\ma%bine 3
¢) You are given the Pay—oﬂ’@mﬂ in ‘
Game as follows: «‘b‘ &y
Q.5 There _Qi‘ﬁ, b 10USE8 $@eahifnﬁ&markétplaccs . Q, R, S Supply at the warchouses is 8.9
andl @it Dei n ’a? f:_lnc&iass 9,6&nd7un1ts
' able sho W fﬂﬁ’,qmit gbgf data of fransportation and a feasible solution to the problem
FSTASTIE S " F R s Seoen
I ]
g
i
5 9 |
_]J 9
11 12 |

Pagedof6
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From the obtained ODtimal Table, answer the followin

vii)

Test the give:iéigxolution for optimality. Ern e 8
If the given solution is not optimal, find optimal solutior susing MODI me
calculate optimal cost of transportation. o PN :

ving Question
If 3 units are transported from B to P, how will the cost be affected?
If the transporter from A to R is prepared to reduce the-costby 20% even if
transportation business is given to him. Sh%uj&lha‘a'fferb‘eabdéptedﬁx‘b
If the management wants to embark on an advértisement carr paign jn on¢
place, which one should be selected?. > '

If the transport cost from C to R decreases. fro
transportations solution? - R '
What should be the decrease in.the cost of ¢

that multiple solutions are possible

Page 5 of 6
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Ty.R.M-s. . Sem. VL o LI

§ epWore Gxord: Apeil IR AR
- b - Q.P. Codé %mr

8 obi 0S- \ S S
[Time:2.30] I"\ - " “u%“)

Please check whether you have got the right qucgnap _pdpel;
N.B: i) All questions are compulsory D 3

ii)

iii)

Q.1 Answer any 2 questions from the following

] a. Explain the need of India Ethos S FTERFSL TS
® b. Differentiate between Indian managemem’ and wesﬁem mahagemeﬂt oy
“ c. What are the management lessons leamt ﬁ'amthe‘\ledas‘? ST

Q.2 Answer any 2 questions from the followulg ..ﬁt

a. What is the work ethos? Explalmﬁxe Evels»of\vark‘athas
b. DISCUSS the va!ues for Indian m&n YA

15

w Q.3 Answer any 2 questions the follow?:g RGO
a. Explain the stress manﬁgpmen’i‘ techmqueSx
b. Differentiate betweg)’l E'Qnswtlmildnd traasférmqilcmal Iea@ersm p.
c. Explain the Sm an Dﬁmd“aﬂd Bhedthem’x bf motwaﬁoﬁ Sy

Q.4  Answer any 2 questlmm\f the follow‘}ng ‘ TS
a. Explain Guri em of | learnirig and gwegts featm‘qs oyl
b. Explain the ia?%‘@f khrm\a g 3 fx
¢ Dlscusaha“ 1 dlgb eihos hc{ps m Rersonalrty develbpment

15

15

Q.5  Readthe g}i?qn cé;e study and answa-' thequestlons @m bclow 15
Sunif Pb\@t’llﬂolé is an mdtlstna.l gstablishment based in Belapur. It is owned by Mr.
SumLM‘ishfg;whma the managing dwccmoﬂhe company. The company is reputed for
gf qaxailty“pfoduﬁs Ml‘ - Ramakant is aunmn lsader of the company and also works on
\\;"- i mhchmtbpémwr ih. thg production departmént This department is looked after by Mr.
S5 %et@.; an (mgmep# specda]:@a in metalfurgy Since Mr. Ramakant is a union leader, he
N ;{cgtﬂ m&ﬁhvbvadequate atterition to his job. He is egoistic and arrogant individual. Mr.
~Soni s m@hﬁlrédunﬂivxdual with professional acumen. Due to Ramakant’s negligent
a“thﬁldéibwaﬁs Gtk &cohslgnmem of 50 twist drills made ready for dispatch were
& \‘deip)re&%i ma)‘%r dISgﬁepancxes in the item. During inspection in the item, by the
htxb@hﬁﬁkm%péctﬁr, 1t was found that 8 twist drills were defective, when questioned
?iiyﬁ*tr., oniy) fwas very rude and arrogant Mr. Soni made a detailed report and
Stibn:ﬂtt@d#u&@MD,, the MD issued the charge sheet to Ramakant. Ramakant
ppr({&ched‘thé MD: wuh an apology and requested his case to be considered
,synmafhétwaliy:**

*

g kant’s behavior will adversely affect organizational culture?
: -Stqapqs& ym.’l WEf'c the MD who has an understanding of Indian Ethos, what action would
‘yOu haVe i‘aken*on the apology of Mr. Ramakant?

o4 o ok o ok o ok ok ok o o ke ok
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P %\ Time: 2:30 Hours

S

»Marks 75

Q1) Answer any two of the following: O “ . 15 marks & \
A) In an image conscious corporate market, what elements do you thmk wnll affeet ébf;;efafe lmage’? £ "'
B) Discuss on the scope and need of corporate commumcation : & S
C) Explain in brief about digital piracy & invasion of pnwf.'c:}'f;'-'j

Q2) Answer any two of the following: Yoy

A) Explain the meaning of PR and its functions.

B) How do various business environments 1nﬂuence husmei;s of a cbmpany'?

\ ‘\ \

\‘:"\' ¥, \

C) Explain any two theories used in PR in bnef 7 .
Q3) Answer any two of the following: = b :_' P : ‘:- 3 %3 :.;r;r,-.‘f: ; 15 marks
A) Describe principles of a good media rela’uon : 28 SO
B) What is employee commuuléahoﬂ? Mcni‘wn 1ts soumes
C) What is a press release‘? What are, its charactenstlcs'? ;
Q4) Answer any two of the ﬂ)llﬁmng , Y 15 marks

A) What do you memx by curporate blog‘? Mennon 1ts mle in PR

Q5) Solw:r 4he f@]lowmg?t:ase aﬁﬁ ans*Wer the questlons given below: 15 marks

XYZ Bank has been‘m thé bankmg busmess for Jast’ 50 years. They are well-known for good customer
service and ethlcaf employee cﬁlgure Kecently, the bank came into spotlight for the fraudulent acts
commxt’tcd by some employees. Thlshas adVersely impacted customer faith with respect to employees.

—Questmns P,

1 Dlscuss the rdic of mﬂnagement in employee communication.

3 If you were the managér of thls bank how would you handle this crisis?

ok s o ok ook ko ok
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Ty, 8Ms ! Sew: VT
[Regtos Bxomd: Apeil GOIR
Medie Plomming &
Mngt.

Time 2.5 hours

Note Below:

1) All Questions are compulsory
2) Figures to the right indicate full marks
3) Give suitable examples wherever necessary

Q1) Attempt any two of the following § .;?::;,7 e g 15

a) What is media planning? Explain the dlffercnt eléments of medla p\tﬁnmqg;\ -

b) Explain the role and importance of media in. con%umer buymg d eOISm'r; P

i AN - T
(i) Audit Bureau of Circulatio;};_é".‘ S ey {‘ V PR
(i) Natonal ReadershipSurvey "."\:f:-‘;' S ST
(iii) National Television‘g;fﬁgy{ ORSEASS \ g

a) Explain the needf()r méd;a mlx o F 5 : il

b) Explain the’ m’ifféreﬁt tyfpes of prmt’ med;a : ; '

¢) Explain the\ﬂlﬁbjf@;i componems of medla u;;trategy i

Q) Attempi'miat};&mfouomg IR .

a) What do yqn mean ByMcdi&ﬂudget? txplam the factors to be considered while framing a

)\1

- b) Explﬁin the elemzms of huym,g bnef

c) What lsmcdla s&thedulmg" Explam thc importance of media scheduling.

=

Page 1 of 2
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Q.P. Code: 31603

Q4) Attempt any two of the following & ﬂ : P ok

a) Explain the following terms with reference to media measuremenht: - .- & > = 3 &

(i) Reach  (ii) Peoplemeter (iii) TRP

b) Write a brief note on benchmarking metrics

¢) Explain the following: s S0

(i) Evaluating Radio Media Buying N P

£ gt
e
7
by
s,

(ii) Evaluating Cinema Media Buying : *

~

Q5) Read the following case study & answer the qimstmns be\lpw Sl : ‘ e 36

Media planning is the process of dcrwmglhc best %mamgy 10 reach thg largest—m drough
an effective use of the marketing Mix, USmg:approprlate c-hatmels Mcdfa plannmg starts with an
analysis of the consumer beﬁavnor pﬁtterns Bf a cilstomer’ s targct and;eﬁne “"This could be TV,

radio, print, or online. Thé Jnext step is 10 devise a x:EIQVant advertlsing strategy across those
channels. The selection of medla fqr ,aavert‘iqmg can somqtmicsprdm tncky for small firms with
limited budgets and know-how AdVemsements thmklgbnatmna] level television and mewspapers,
are often too expeﬁsnve foi* a company that services: onlx\a ﬁma}t j,arget market. The mmportant
challenge is to translate hw.rketmg requtrements in fo- at;amable media objectives and then to
execute and momj@f the. strategy to 3chiewe the desired gOal The end-to-end process of media
planning and. GXBCHiIOhx valvcs écllaboranork between various stake holders. This mcludes
advertlsmg, planmng, gemzles crsati\re agencms broadcaster s ad monitoring agencies, all of
whom are mvoived durmg dtfferent stages of the process

Questlon9° '
a) Explain thc role bf rﬁed‘m planner

b) Expiam the chailengés of Mcdla Plahnmg

‘\(.,

e ok ok ok ek ok ok kK K
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Retodl Mugt 90!8 7/\/6 e ’t_"‘s:lflf(\:()“nl%isslzs

[Time: 2.30 Hours] _,:-ﬁ__"‘ ' [Mﬂrk&ﬂﬁ]

Please check whether you have got the nght questIOn paper

N.B: 1. All questions are compulsory. A A i N
‘2. Answer to sub-questions must be wnﬂ:en ti)gether

Q.1 Answer the following: (Any two) 5 i P ~ ‘* . t15 Mér]ts]é_ R
a. Explain the functions performed by a retaller LR’ ‘ {7 5)

b. Discuss the factors responsible for the grthh Df drgamzed retarl m lndla ( 7 5)
C. What is Airport Retailing? Explaln its. features oF SeY (7 5)
Q.2. Answer the followifg; (Any two) : > kj—"?:_ (‘1_5‘:'Marks)
a. Explain the factors mfluencmg retaul shoppers A & f | (?5)
b. Write the steps in developing r&talf strategy .. - : _;57"'-(7.5)

¢ Elaborate the object‘fws of CRM fn refaai ) ._" ; (7.5)

Q.3. Answer the fouowlng (Any i\m:) \ SAE (15 Marks)
a. Discuss the neéd and lmpartance of pnvaté labél brand‘s - ( 7.5)_
b. What qgvarqa,tzlg prming’? Dfscms jts tvpes | {72.5)
c. What do you maan bv merchandlsrng? Explain the prrncrples of merchandising (7.5)
Q.4. Answer tﬁe “folfew.v‘i:‘;g {Any two) S ey (15 Marks)
a. .= }'*State the respoﬂs:bihties of the store marﬁager (7.5)
b | l.iD:stuss the 5 SJs of Retall Operations (7.5)

B e Expiam fhe toois used for wsual merchandvsmg (7.5)

Page 1 of 2
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.P CO}DE‘ 35128

Q.5. Solve the case study: (ISMarks)

7 N
v ’Tq‘-"

Organized retailing in India is poised for exponential growth. It is expected ta expenence new - ‘f

paradigms due to the changing dynamics in areas such as demand, .suﬂpl\(, iechholqgv Supply .' "

chain management, government policy.

It is said that as consumerism is rapidly growing, . rufal cé’hsume?smin be the blagést

beneficiaries. At the same time, the retailer is expected to ;:irt;wudal value to the custemers, 2 o

associates, employees and consumers. It may be not~ed that itis dxﬁu‘:utt ;(J sustain ret:nl business
with such dynamics and changes taking place in‘the ﬂ‘iarket. The heed nf bﬁur s ﬂaﬁbﬂrty in
business so that it can change according to the needs of theumarket

With fast changes in rural markec, some iame tampa es are ready 0 ehtf.'rthe amd retail
business in small cities and towns. The quesﬁon is how far they w°uld succee¢ tftheycnter this
field, they have to decide that weathef“they shoulclfocus on value retaﬂ'ngor lifest]leretanlmg

Retail cannot develop by settlng\\up Qﬁiw gaa#}s In o,rder to pmmote fetarl mabo have to
promote India as a shopping de*stiﬁation For tms, it'is. hecessary to gﬁle mrﬂ an Indian
face. While we bring in foreign fatmgts fb grpw, It Isvery!mpartanﬂhat India develops her own

w,

format rather than just to iri’utateforeign malls Y AL SR NS

'e

S AT e 4
\’ O -
" o

Questions .' L S B A o R -,;
& \ﬂ"', o8 =y 'Q -“';}': . "‘

S

1. How is organized ‘retatling\cab be prometed m Rural Indla?

2. Taking example of aﬁ orgamzedrretanler in. lndta, explam how have they been successful in
giving an Indianfal:e to rataﬂ? QK

-

3 Before settmgup an grga“nized retall store what réstrictlons you will try to avesd?

o

R R i T T DL A i bbb

Page 2 0f 2
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Feguloe Gxod, Apeil
Broenrd Mng’r- J0|8 w) & QP,Code. 317695‘;“

2 %: Hours \'J\\@ ' ‘.;75, 'Mn]\fks‘ Srg, A
Note: 1. All questions are compulsory 0)\}% __
2. Figures to the right indicate marks. L b gy e |

Al v?"-".'"~ ;

(l 5)_;—' 2

Q1. Answer the following (Any Two)
a. ‘Brands are very important to consumers. Justiﬁ( thls Statément wnh ré‘asws
b. Explain the various steps in the strategic brand management pmceSs.
¢. Define positioning. Explain the lmport'mcaof pos:honmg for a brand
Q2. Answer the following (Any Two) e 5 B SR ST e ' (l.'5)

a. Explain the various types of brand eIemeﬁts Whlch brand element is: lhe mast
important according to you? - o~ )

b. What is experiential marketing? Explém (w;th exampIES) how it can be éffeotlvely
applied in today’s times? = * - o

c. What is co-branding? Explam the advantages and dlsadvantages

Q3. Answer the followmg (Any TWD) . (15)

a. Discuss the bmnd value cham m detail 4
b. Explain the: iquahtatlva rese,arch technlques in detall
c. Discuss Young & Rublcam 'S que N e 2

Q4. Answer the ’followmg (Any Tw:)) . : (15)

a. .Wnte anote bn‘Brand Hlerarchy\ : 3

b. Define cause-related: mark?etmg Do u thmk cause related marketing is the need of the
CROUR? T A

B Explam br;ﬂ'gd tewtallsatlon and brand remforuemenl

iy

AQS Case Study S " : (15)

~A gleat example of brand posmonmg is Disney. With movies, T.V. shows, theme parks,
coloring books, and baby clothing (to name only five of its many products).

~ One successful brand extension is the Disney English-language training center. Though less
‘ingrained in popular culture than other Disney products, this particular extension has been
incredibly successful in China. It is especially important to highlight because as an
" international brand, it faced even more obstacles than other extensions by navigating a vastly
different culture and an audience with an entirely different set of values.

Page 1of 2
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After identifying an international opportunity, Disney leveraged its unfi"quc sirengthé, Jike its - .

unparalleled customer experience and focus on entertaining children, to break into an-
incredibly lucrative niche in China. Dlsney English, centers for teaching young children the
English language, opened in Shanghai in 2008, according to McKinsey & Company,
simultaneous with the development of the city’s Disneyland park. Disney English is now in :
more than nine cities in China, with more than 30 locations. Further, the extension is helpmg
the mam ‘Disney brand to flourish in a country that is not as familiar with its trademark -~

“magic.” As McKinsey & Company’s article notes, “In a country where Disney’s films and . * .

merchandising have yet to establish a broad market presence, using language learning toﬂ'
attract small children and their families looks like a great entry point to the world’s biggest
market and a sound investment in nurturing a future consumer base for Disney products.” In "
this way, the extension -capitalizes on both leverage and logic, bringing value to both

consumers and the main brand in a number of i e o - - N

Questions:

. Page2of2
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Please check whether you have got the right que'étidﬁ‘-”ptapéﬁ L0 ey

NB: 1. Al questions are compulsory subject to internaf chojee . ¢ O F GO TS
‘ 2. Figures to the right indicate full marks. =72 O8NS S RE E STy
B g it

1. Attempt any two questions Rk o e PO 15
a) Define international marketing. Discuss its featings,~ v > & T RTINS
b) Define trade blocks, Explain the degree of ii'qtegfatjq_n?Qhoséj}-tg:)hcpyn;xies. Nyl s
¢) “International marketing is not as easy as dgme_&'ﬁé-rri_arkding?’ throw light on the =~
statement with respect to the challeng_es‘facegl in ]nt(_:;_'rjationgl Marketing.

- 2 Attempt any two questions SRR A i e Pl ; 15
a) Explain the components of Inte}iihtionél Mai'l_cétiﬁg‘Enlv_imnmeﬁti_' \
b) Write a note on B S Sy SR
() World bank ..~ =T RS
(i) IMF Sy
(iii) TFC A e RO X
¢) Explain the process of International MarKeting Research, .
3. Attempt any two questions A L TN 15
a) Propose anargament on Product. Standardisation and Product Adaptation with
suitable example Bt o5 o DY, NS
b) As a company hiigﬂg_iing'to'enter the' hdtcr‘hat_ioz;g!'.;qarkets, identify the various
channels of -disgqutjm that you woltild consider for entry in the market.
¢) What are’ ,t_l.ie.differept_mctl?ods:quricing in international market?

l & Atterhpt?fg.aij;-MQ{Q,%#&%& TR _ 15
w - a) Whatare the drivers for global service marketing?
b) ‘What “is- meant by ipt‘gamqﬁqhél“ organisational design? Explain the types of
‘ : Qrg_animionﬁik-'gwetgr@il_i_;Irite‘mational- business.
'¢)- How should an’ cxportﬁrm proceed to devise international marketing plan.

5. CaseStudy - e i AT 15
You are an FMCG 't'om_pa;_ly p']'aﬁr_lihjg to launch a herbal soap in International market.

1." Design a §Hﬁéﬁiéﬁﬂ§rk#tiﬁg mix plan for the company. 7.5
2. What _wim)e_.the'mo'd_e of entry that you will adopt for product distribution. 7.5
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